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(1% 4-5: AFFERIEYF] (10 70)
LRI RRER £ (x)=[3x+1—2|x—1]
(L) HHy =t (x) BTEE
(2) RAGEI 1 (x)> £ (x+1) FIESE
[ %) (1) PERAHT (2) {Ax<—%}

[t

(1) %ﬁxs-%ﬂ¢, ] £ (x)=—x-3; %ﬁ—%<x<lﬁ¢, M £ (x)=5x-15 Hx=1/7,

] £ (x)=x+3

—x—3,x£—l
3

%%J:: f(@::SX—L—%<x<1

X+3,x>1

T

[

of

3t

\ i
54 N 2 - |

(2) f(x+1)=[3(x+1)+1=2|(x+1) -1 =[3x+4| - 2|x
BER £ () > £ (x+1) BIBREE ST T-3K £ () - f (x+1) > 0 HIREE
é}g(x)zf(x)—f(x+1)mﬂg(x)=Bx+q—Jﬂx—ﬂ—Bx+4Lfﬂx

ﬁﬁxﬁ—%ﬁﬁ, M g (x)=1>0 A7,

§§—§<x<—%ﬂﬁy,mUQOQ=—6x—7, ng() —6x-7>0, Eﬂx<—— mU——<x<—g

‘_i'l—%sxwﬁ, M g (x)=-5/4 Al AL
Ho<x<tif, MWg(x)=4x-5, Mg(x)=4x-5>0, Eﬂx>§
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